
FZdjhku B-1

B FZdjhku

<�� FZdjhk 2
Pbnjh\hc
ihl_gpbhf_lj
(j_]mebjh\Zgb_
qZklhlu/kdhjhklb
dhglZdlZfb
<<?JO b <GBA)

JZahfdgmlZy kbkl_fZ

AZfdgmlZy kbkl_fZ

AZfdgmlZy k_j\hkbkl_fZ

Hkh[_gghklb

Pbnjh\u_ \oh^u gZkljh_gu ^ey jZ[hlu k

dhglZdlZfb <<?JO b <GBA� g_ bf_xsbfb
nbdkZpbb.

Fh`gh \u[jZlv jZ[hlm k pbnjh\uf

ihl_gpbhf_ljhf beb h[uqgh_ ZgZeh]h\h_

j_]mebjh\Zgb_ qZklhlu/kdhjhklb.  :gZeh]h\uc
\oh^ � hklZ_lky ^hklmiguf ^ey ZgZeh]h\h]h

kb]gZeZ �hl � ^h �� <�� aZ^Zxs_]h

qZklhlm/kdhjhklv.

Ih mfheqZgbx dhglZdlu <<?JO b <GBA
h[_ki_qb\Zxl h^ghiheyjguc kb]gZe mijZ\e_gby

kdhjhklvx� GZijZ\e_gb_ \jZs_gby ^\b]Zl_ey

j_]mebjm_lky dhglZdlZfb IJYFH? <J:S?GB? b
H;J:LGH? <J:S?GB?. Pbnjh\hc ihl_gpbhf_lj
fh`_l [ulv kdhgnb]mjbjh\Zg lZd� qlh[u

dhglZdlu <<?JO b <GBA i_j_^Z\Zeb ^\miheyjguc
mijZ\eyxsbc kb]gZe� lh]^Z baf_g_gb_

gZijZ\e_gby \jZs_gby fh`_l ijhbkoh^blv� ihdZ

aZfdgml h^bg ba ^Zgguo dhglZdlh\.

J_`bf jZ[hlu k pbnjh\uf ihl_gpbhf_ljhf
fh`gh \u[jZlv� qlh[u ihke_ dZ`^h]h \dexq_gby

\ k_lv fh`gh [ueh \_jgmlvky d jZg__

mklZgh\e_gghc kdhjhklb beb aZimklblv ^\b]Zl_ev

k gme_\hc kdhjhklb.

< ^Zgghc ko_f_ fh`_l bkihevah\Zlvky

l_jfbklhj ^\b]Zl_ey .

Kh_^bg_gby p_i_c mijZ\e_gby

 

0 < h[sbc

:gZeh]h\h_ aZ^Zgb_

qZklhlu�kdhjhklb �
(^bklZgpbhggh�
0-10 <

KDHJHKLV

FHF?GL

0 < h[sbc

De_ffgbd kb]gZeh\

mijZ\e_gby

<<?JO

K;JHK

<GBA

IJYFH? <J:S?GB?

OL> <g_rg__ hlde�
CL> JZaj_r_gb_ gZ
u    aZimkd 0 < h[sbc

:G:EH=� <OH>

K A:>� IHL?G�

J_e_ khklhygby
Ijb\h^ \ ghjf_

H;J:LGH? <J:S?GB?

<u[hj j_`� pbnj� ihl�

L_jfbklhj ^\b]Zl_ey

 Jbkmghd B–1 Kh_^bg_gby p_i_c mijZ\e_gby ^ey

u j_`bfZ pbnjh\h]h ihl_gpbhf_ljZ

L_i_jv ke_^mcl_ mdZaZgbyf =eZ\u � �gZqbgZy k

jZa^_eZ <u[hj mijZ\e_gby: \g_rg__ beb k
dghihqghc iZg_eb).
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GZkljhcdZ b bkihevah\Zgb_
fZdjhkZ

1. ?keb lj_[m_lky� baf_gbl_ agZq_gb_

iZjZf_ljZ 0.29 RZ] pbnjh\h]h ihl_gpbhf_ljZ
^ey lh]h� qlh[u baf_gblv \j_fy m\_ebq_gby

beb mf_gvr_gby kdhjhklb� M\_ebq_gb_

agZq_gby 0.29mf_gvrZ_l rZ] baf_g_gby
kdhjhklb�

 AgZq_gb_ ih mfheqZgbx:  20 k�
>bZiZahg:  0 ~ 250 k�

2. ?keb g_h[oh^bfh jZ[hlZlv k ^\miheyjguf

kb]gZehf� mklZgh\bl_ 0.28 <u[hj ^\miheyjgh]h
j_`bfZ pbnjh\h]h ihl_gpbhf_ljZ  gZ ��

3. Ih mfheqZgbx� dZ`^uc jZa� dh]^Z Ijb\h^

ih^dexqZ_lky d k_lb� qZklhlZ/kdhjhklv
\ha\jZsZ_lky \ j_`bf j_]mebjh\Zgby ih

ebg_cghfm aZdhgm �jZfi_� kh]eZkgh

ihke_^g_c gZkljhcdb pbnjh\h]h

ihl_gpbhf_ljZ � ?keb lj_[m_lky� qlh[u

Ijb\h^ aZimkdZeky k gme_\hc kdhjhklb�

mklZgh\bl_ 0.27 <u[hj klZjlZ k gmey \ j_`bf_

pbnjh\h]h ihl_gpbhf_ljZ  gZ ��

4. Qlh[u k[jhkblv pbnjh\hc ihl_gpbhf_lj gZ

gmev� mklZgh\bl_ 0.25 K[jhk pbnjh\h]h
ihl_gpbhf_ljZ  gZ 1.  >ey jZaj_r_gby
nmgdpbhgbjh\Zgby pbnjh\h]h

ihl_gpbhf_ljZ \_jgbl_ 0.25 \ 0.

5. Ijb g_h[oh^bfhklb fh`gh gZ[ex^Zlv

\uoh^gh_ agZq_gb_ kb]gZeZ ihl_gpbhf_ljZ \

iZjZf_lj_ 0.26 Bg^bdZlhj \uoh^Z pbnjh\h]h
ihl_gpbhf_ljZ.

Kibkhd iZjZf_ljh\

< ^Zgghf fZdjhk_ ^hklmigu iZjZf_lju�

i_j_qbke_ggu_ \ jZa^_e_ IZjZf_lju fZdjhkZ 1
\ =eZ\_ �� iexk ijb\_^zggu_ \ gb`_ke_^mxs_c

lZ[ebp_� @bjguf rjbnlhf ihdZaZgu

iZjZf_lju� dhlhju_ bf_xl nmgdpbb�

ij_^gZagZq_ggu_ ^ey bkihevah\Zgby \ fZdjhk_.

IZjZf_lj Nmgdpby

0.11 AZ^Zgb_ i_j_^ jZfihc

0.12 AZ^Zgb_ ihke_ jZfiu

0.13 :dlb\guc lhd ^\b]Zl_ey

0.14 AZ^Zgb_ \ lheqdh\hf j_`bf_

0.15 <u[hj j_`bfZ lhjfh`_gby

0.16 <u[hj j_`bfZ hklZgh\db

0.17 Bg\_jlbjh\Zgb_ j_e_ khklhygby

0.18 Bkihevah\Zgb_ S-jZfiu jZaj_r_gh

0.19 S-jZfiZ k h]jZgbq_gb_f da/dt

0.20 IjhimkdZ_fZy qZklhlZ/kdhjhklv 1

0.21 >bZiZahg ijhimkdZ_fuo qZklhl�kdhjhkl_c �

0.22 IjhimkdZ_fZy qZklhlZ/kdhjhklv 2

0.23 >bZiZahg ijhimkdZ_fuo qZklhl�kdhjhkl_c �

0.24 <u[hj j_`bfZ jZ[hlu ZgZeh]h\h]h \oh^Z �

0.25 K[jhk pbnjh\h]h ihl_gpbhf_ljZ

0.26 Bg^bdZlhj \uoh^Z pbnjh\h]h ihl_gpbhf_ljZ

0.27 <u[hj aZimkdZ k gme_\hc kdhjhklb \ j_`bf_

pbnjh\h]h ihl_gpbhf_ljZ

0.28 <u[hj ^\moiheyjgh]h aZ^Zxs_]h

ihl_gpbhf_ljZ

0.29 RZ] pbnjh\h]h ihl_gpbhf_ljZ

0.30 FZkrlZ[guc dhwnnbpb_gl \uoh^Z pbnjh\h]h

ihl_gpbhf_ljZ
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<�� FZdjhk �

Ij_^\Zjbl_evgh
mklZgh\e_ggu_
kdhjhklb

Hkh[_gghklb

Fh`gh bkihevah\Zlv ^h q_lujzo ij_^\Zjbl_evgh

mklZgh\e_gguo qZklhl/kdhjhkl_c� bo agZq_gby
^he`gu [ulv aZijh]jZffbjh\Zgu \

khhl\_lkl\mxsbo bg^b\b^mZevguo iZjZf_ljZo.

<u[hj h^ghc ba qZklhl�kdhjhkl_c

hkms_kl\ey_lky dhglZdlZfb ih ijbgpbim

^\mo\oh^h\hc eh]bdb.

Fh`gh \u[jZlv jZ[hlm k ij_^\Zjbl_evgh

mklZgh\e_ggufb qZklhlZfb/kdhjhklyfb beb
ZgZeh]h\h_ mijZ\e_gb_ qZklhlhc/kdhjhklvx�

:gZeh]h\uc \oh^ � hklZ_lky ^hklmiguf ^ey

ZgZeh]h\h]h kb]gZeZ �hl � ^h �� <�� aZ^Zxs_]h

qZklhlm/kdhjhklv.

< ^Zgghc ko_f_ fh`_l bkihevah\Zlvky

l_jfbklhj ^\b]Zl_ey .Kh_^bg_gby p_i_c
mijZ\e_gby

 

0 < h[sbc

:gZeh]h\h_ aZ^Zgb_

qZklhlu�kdhjhklb �
(^bklZgpbhggh�
0 – 10 <

KDHJHKLV

FHF?GL

0 < h[sbc

De_ffgbd
kb]gZeh\

<u[hj ij_^� mkl� :

K;JHK

<u[hj ij_^� mkl� <

IJYFH? <J:S?GB?

OL> <g_rg__ hlde�
CL> JZaj_r_gb_ gZ
\     aZimkd 0 < h[sbc

:G:EH=� <OH>

IJ?>MKL:GH<E?G�

GU? A:>:GBY

J_e_ khklhygby
Ijb\h^ \ ghjf_

H;J:LGH? <J:S?GB?

Bkihevah\Zgb_ ij_^mkl�

kdhjhkl_c jZaj_r_gh

L_jfbklhj ^\b]Zl_ey

 Jbkmghd B–3 Kh_^bg_gby p_i_c mijZ\e_gby ^ey

u ij_^\Zjbl_evgh

mklZgh\e_gguo kdhjhkl_c

L_i_jv ke_^mcl_ mdZaZgbyf =eZ\u � �gZqbgZy k

jZa^_eZ <u[hj mijZ\e_gby: \g_rg__ beb k
dghihqghc iZg_eb).

GZkljhcdZ b bkihevah\Zgb_
fZdjhkZ

1. <\_^bl_ gm`gu_ <Zf agZq_gby ke_^mxsbo
iZjZf_ljh\:

 0.25 Ij_^\Zjbl_evgh mklZgh\e_ggZy
qZklhlZ/kdhjhklv 1

 0.26 Ij_^\Zjbl_evgh mklZgh\e_ggZy
qZklhlZ/kdhjhklv �

 0.27 Ij_^\Zjbl_evgh mklZgh\e_ggZy
qZklhlZ/kdhjhklv 3

 0.28 Ij_^\Zjbl_evgh mklZgh\e_ggZy
qZklhlZ/kdhjhklv 4

 AgZq_gb_ ih mfheqZgbx:  0
>bZiZahg:  OL>  ±1000 =p  CL>  ±30 000
H;/FBG

2. Ih mfheqZgbx ^_ckl\m_l ZgZeh]h\uc kihkh[

aZ^Zgby qZklhlu/kdhjhklb� Qlh[u aZf_gblv

_]h gZ ij_^\Zjbl_evgh gZkljh_ggu_
aZ^Zgby� aZfdgbl_ dhglZdl BKIHEVAH<:GB?

IJ?>MKL:GH<E?GGUO KDHJHKL?C J:AJ?R?GH.

3. <u[_jbl_ \_ebqbgm lj_[m_fh]h

ij_^\Zjbl_evgh mklZgh\e_ggh]h aZ^Zgby

ke_^mxsbf h[jZahf:

Ij_^mkl�

kdhjhklv

<U;HJ

IJ?><:JBL�

MKL:GH<DB A

<U;HJ

IJ?><:JBL�

MKL:GH<DB <

1 JZahfdgml JZahfdgml

2 JZahfdgml AZfdgml

3 AZfdgml JZahfdgml

4 AZfdgml AZfdgml
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Kibkhd iZjZf_ljh\

< ^Zgghf fZdjhk_ ^hklmigu iZjZf_lju�

i_j_qbke_ggu_ \ jZa^_e_ IZjZf_lju fZdjhkZ 1 \
=eZ\_ �� iexk ijb\_^zggu_ \ gb`_ke_^mxs_c

lZ[ebp_� @bjguf rjbnlhf ihdZaZgu

iZjZf_lju� dhlhju_ bf_xl nmgdpbb�

ij_^gZagZq_ggu_ ^ey bkihevah\Zgby \ fZdjhk_.

IZjZf_lj Nmgdpby

0.11 AZ^Zgb_ i_j_^ jZfihc

0.12 AZ^Zgb_ ihke_ jZfiu

0.13 :dlb\guc lhd ^\b]Zl_ey

0.14 AZ^Zgb_ \ lheqdh\hf j_`bf_

0.15 <u[hj j_`bfZ lhjfh`_gby

0.16 <u[hj j_`bfZ hklZgh\db

0.17 Bg\_jlbjh\Zgb_ j_e_ khklhygby

0.18 Bkihevah\Zgb_ S-jZfiu jZaj_r_gh

0.19 S-jZfiZ k h]jZgbq_gb_f da/dt

0.20 IjhimkdZ_fZy qZklhlZ/kdhjhklv 1

0.21 >bZiZahg ijhimkdZ_fuo qZklhl�kdhjhkl_c �

0.22 IjhimkdZ_fZy qZklhlZ/kdhjhklv 2

0.23 >bZiZahg ijhimkdZ_fuo qZklhl�kdhjhkl_c �

0.24 <u[hj j_`bfZ jZ[hlu ZgZeh]h\h]h \oh^Z �

0.25 Ij_^\Zjbl_evgh mklZgh\e_ggZy

kdhjhklv�qZklhlZ �

0.26 Ij_^\Zjbl_evgh mklZgh\e_ggZy

kdhjhklv�qZklhlZ �

0.27 Ij_^\Zjbl_evgh mklZgh\e_ggZy

kdhjhklv�qZklhlZ �

0.28 Ij_^\Zjbl_evgh mklZgh\e_ggZy

kdhjhklv�qZklhlZ �
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<�� FZdjhk 4
J_]mebjh\Zgb_
fhf_glZ

Hkh[_gghklb

Fh`gh k^_eZlv \u[hj f_`^m j_]mebjh\Zgb_f

fhf_glZ b ZgZeh]h\uf j_]mebjh\Zgb_f

qZklhlu/kdhjhklb� :gZeh]h\uc \oh^ � hklZ_lky

^hklmiguf ^ey ZgZeh]h\h]h kb]gZeZ� aZ^Zxs_]h

qZklhlm/kdhjhklv� :gZeh]h\uc \oh^ �

ij_^gZagZq_g ^ey ZgZeh]h\h]h aZ^Zgby fhf_glZ�
H[Z \oh^Z \hkijbgbfZxl kb]gZeu hl � � �� <.

H]jZgbq_gb_ kdhjhklb ijb j_]mebjh\Zgbb
fhf_glZ hkms_kl\ey_lky ke_^mxsbf h[jZahf:

OL>  FZdkbfZevgZy qZklhlZ h]jZgbq_gZ
agZq_gb_f 0.02 FZdkbfZevgZy qZklhlZ.

CL>  FZdkbfZevgZy kdhjhklv h]jZgbq_gZ
agZq_gb_f kb]gZeZ aZ^Zgby kdhjhklb�

ih^Zggh]h gZ ZgZeh]h\uc \oh^ �.

< ^Zgghc ko_f_ fh`_l bkihevah\Zlvky

l_jfbklhj ^\b]Zl_ey .

Kh_^bg_gby p_i_c mijZ\e_gby

 

J_e_ khklhygby

Ijb\h^ \ ghjf_

:gZeh]h\h_ aZ^Zgb_

fhf_glZ �� ± �� <�

L_jfbklhj ^\b]Zl_ey

KDHJHKLV

FHF?GL

0 < h[sbc

De_ffgbd kb]gZeh\

mijZ\e_gby

:gZeh]h\h_ aZ^Zgb_

qZklhlu�kdhjhklb

(0 – 10 <�

>hklb`_gb_ aZ^Zgghc

kdhjhklb

K;JHK

>hklb`_gb_

fbgbfZevghc kdhjhklb

IJYFH? <J:S?GB?

H;J:LGH? <J:S?GB?

FHF?GL�KDHJHKLV

OL> <g_rg__ hlde�
CL> JZaj_r_gb_ gZ
u     aZimkd 0 < h[sbc

0 < h[sbc

KDHJHKLV

FHF?GL

0 < h[sbc

 Jbkmghd B–4 Kh_^bg_gby p_i_c mijZ\e_gby ^ey

j_]mebjh\Zgby fhf_glZ

L_i_jv ke_^mcl_ mdZaZgbyf =eZ\u � �gZqbgZy k

jZa^_eZ <u[hj mijZ\e_gby: \g_rg__ beb k
dghihqghc iZg_eb).

GZkljhcdZ b bkihevah\Zgb_
fZdjhkZ j_]mebjh\Zgby
fhf_glZ

1. JZahfdgbl_ dhglZdl FHF?GL�KDHJHKLV.

2. OL>  MklZgh\bl_ 0.02 FZdkbfZevgZy qZklhlZ
gZ agZq_gb_� lj_[m_fh_ ^ey h]jZgbq_gby
fZdkbfZevghc kdhjhklb ^\b]Zl_ey.

 CL>  MklZgh\bl_ ZgZeh]h\h_ aZ^Zgb_
kdhjhklb gZ lj_[m_fh_ agZq_gb_
fZdkbfZevghc kdhjhklb ^\b]Zl_ey.

3. MklZgh\bl_ ZgZeh]h\h_ aZ^Zgb_ fhf_glZ gZ
gm`guc <Zf mjh\_gv.

4. MklZgh\bl_ 0.28 Ihjh] ij_\ur_gby kdhjhklb
gZ qZklhlm/kdhjhklv� ijb dhlhjhc Ijb\h^
^he`_g hldexqblvky ^ey aZsblu kbkl_fu.
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 AgZq_gb_ ih mfheqZgbx:
OL>  ([1.06] x 1.2) =p
VT>  2000 H;/FBG
SV>  2000 H;/FBG

 >bZiZahg:
OL>  0 ~ ([1.06] x 1.2) =p
CL>  0 ~ 30 000 H;/FBG

5. GZ[ex^Zcl_ aZ^Zgb_ fhf_glZ� ijhkfZljb\Zy

gZ ^bkie__ agZq_gb_ iZjZf_ljZ 0.25
:gZeh]h\uc \oh^ �.

6. GZ[ex^Zcl_ aZ^Zgb_ qZklhlu�kdhjhklb�

ijhkfZljb\Zy gZ ^bkie__ agZq_gb_
iZjZf_ljZ 0.27 :gZeh]h\uc \oh^ �.

7. >ey aZimkdZ Ijb\h^Z bkihevamcl_ dhfZg^m
RUN �IMKD�.

Kibkhd iZjZf_ljh\

< ^Zgghf fZdjhk_ ^hklmigu iZjZf_lju�

i_j_qbke_ggu_ \ jZa^_e_ IZjZf_lju fZdjhkZ 1 \
=eZ\_ �� iexk ijb\_^zggu_ \ gb`_ke_^mxs_c

lZ[ebp_� @bjguf rjbnlhf ihdZaZgu

iZjZf_lju� dhlhju_ bf_xl nmgdpbb�

ij_^gZagZq_ggu_ ^ey bkihevah\Zgby \ fZdjhk_.

0.11 AZ^Zgb_ i_j_^ jZfihc

0.12 AZ^Zgb_ ihke_ jZfiu

0.13 :dlb\guc lhd ^\b]Zl_ey

0.14 AZ^Zgb_ \ lheqdh\hf j_`bf_

0.15 <u[hj j_`bfZ lhjfh`_gby

0.16 <u[hj j_`bfZ hklZgh\db

0.17 Bg\_jlbjh\Zgb_ j_e_ khklhygby

0.18 Bkihevah\Zgb_ S-jZfiu jZaj_r_gh

0.19 S-jZfiZ k h]jZgbq_gb_f da/dt

0.20 IjhimkdZ_fZy qZklhlZ/kdhjhklv 1

0.21 >bZiZahg ijhimkdZ_fuo qZklhl�kdhjhkl_c �

0.22 IjhimkdZ_fZy qZklhlZ/kdhjhklv 2

0.23 >bZiZahg ijhimkdZ_fuo qZklhl�kdhjhkl_c �

0.24 <u[hj j_`bfZ jZ[hlu ZgZeh]h\h]h \oh^Z �

0.25 :gZeh]h\uc \oh^ � (aZ^Zgb_ fhf_glZ)

0.26 <u[hj j_`bfZ jZ[hlu :gZeh]h\h]h \oh^Z �

0.27 :gZeh]h\uc \oh^ � (fZdkbfZevgZy
qZklhlZ/kdhjhklv)

0.28 Ihjh] ij_\ur_gby kdhjhklb

IZjZf_lj Nmgdpby
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<�� FZdjhk 5
IjhihjpbhgZevgh�
bgl_]jZevgh�
^bnn_j_gpbZevguc
j_]meylhj
�IB>�j_]meylhj�

Hkh[_gghklb

IB>�j_]mebjh\Zgb_ bkihevam_lky \ mkljhckl\Zo

dhgljhey g_ij_ju\guo l_ogheh]bq_kdbo

ijhp_kkh\� gZijbf_j� ijb j_]mebjh\d_
gZly`_gby�

Ijb\h^ j_]mebjm_l kdhjhklv ^\b]Zl_ey \

khhl\_lkl\bb k Ze]hjblfhf IB>�j_]mebjh\Zgby

^ey ih^^_j`Zgby dhgljhebjm_fhc \_ebqbgu gZ
aZ^Zgghf mjh\g_ (gZijbf_j� ^ey ih^^_j`Zgby
iheh`_gby mkljhckl\Z gZly`_gby).

Fh`gh k^_eZlv \u[hj f_`^m IB>�

j_]mebjh\Zgb_f b ZgZeh]h\uf mijZ\e_gb_f
qZklhlhc/kdhjhklvx� Ljb ZgZeh]h\uo \oh^Z

gZkljh_gu ke_^mxsbf h[jZahf:

• AZ^Zgb_ qZklhlu/kdhjhklb, hij_^_eyxs__
kdhjhklv ^\b]Zl_ey

• Kb]gZe h[jZlghc k\yab hl ^ZlqbdZ h[jZlghc

k\yab �gZijbf_j� hl ihl_gpbhf_ljZ
mkljhckl\Z gZly`_gby�

• AZ^Zgb_ IB>�j_]meylhjZ hl ihl_gpbhf_ljZ�

dhlhjh_ hij_^_ey_l iheh`_gb_

dhgljhebjm_fhc \_ebqbgu �gZijbf_j�
iheh`_gb_ mkljhckl\Z gZly`_gby�

<k_ ZgZeh]h\u_ \oh^u \hkijbgbfZxl kb]gZeu � �
�� <.

>bgZfbq_kdb_ ihdZaZl_eb� fZkrlZ[bjh\Zgb_ b

^bZiZahg IB>�j_]mebjh\Zgby fh]ml [ulv

gZkljh_gu k bkihevah\Zgb_f khhl\_lkl\mxsbo
iZjZf_ljh\.

< ^Zgghc ko_f_ g_evay ih^dexqblv l_jfbklhj

^\b]Zl_ey.

Kh_^bg_gby p_i_c mijZ\e_gby

 

J_e_ khklhygby
Ijb\h^ \ ghjf_

AZ^Zgb_ qZkl��kdhj� �

(0 – 10 <�

Kb]gZe h[jZlghc

k\yab

KDHJHKLV

FHF?GL

0 < h[sbc

De_ffgbd kb]gZeh\

mijZ\e_gby

AZ^Zgb_ gZ IB>�
j_]mebjh\Zgb_ �� �

10 <�

>hklb`_gb_

aZ^Zgghc kdhjhklb

K;JHK

IJYFH? <J:S?GB?

H;J:LGH? <J:S?GB?

Bkihevah\Zgb_ IB>�

j_]� jZaj_r_gh

OL> <g_rg__ hlde�
CL> JZaj_r_gb_ gZ
\     aZimkd 0 < h[sbc

0 < h[sbc

<HAFH@GH

G?<HAFH@GH

0 < h[sbc

 Jbkmghd B–5 Kh_^bg_gby p_i_c mijZ\e_gby ^ey IB>�

j_]mebjh\Zgby

L_i_jv ke_^mcl_ mdZaZgbyf =eZ\u � �gZqbgZy k

jZa^_eZ <u[hj mijZ\e_gby: \g_rg__ beb k
dghihqghc iZg_eb).



FZdjhkuB-8

GZkljhcdZ b bkihevah\Zgb_
fZdjhkZ

1. >ey bkihevah\Zlgby IB>�j_]mebjh\Zgby�

aZfdgbl_ dhglZdl Bkihevah\Zgb_ IB>�j_]meylhjZ

jZaj_r_gh�

2. MklZgh\bl_ aZ^Zxsbc ihl_gpbhf_lj IB>�
j_]meylhjZ \ gm`gh_ <Zf iheh`_gb_.

3. MklZgh\bl_ aZ^Zgb_ qZklhlu/kdhjhklb gZ
lj_[m_fmx ghfbgZevgmx kdhjhklv ^\b]Zl_ey
�l_ogheh]bq_kdh]h ijhp_kkZ�.

4. Fh`gh ihklhyggh dhgljhebjh\Zlv \_ebqbgu

lj_o ZgZeh]h\uo kb]gZeh\� ijhkfZljb\Zy gZ

^bkie__ agZq_gby ke_^mxsbo iZjZf_ljh\:

 0.17 AZ^Zgb_ qZklhlu/kdhjhklb

 0.18AZ^Zgb_ gZ IB>�j_]mebjh\Zgb_

 0.19 Kb]gZe h[jZlghc k\yab

GZkljhcdZ ^bZiZahgZ IB>�

j_]mebjh\Zgby

< wlhf j_`bf_ j_]mebjh\Zgby jZkkh]eZkh\Zgb_

kb]gZeh\ h[jZlghc k\yab b aZ^Zgby ijhoh^bl

q_j_a h]jZgbqbl_ev� Z aZl_f q_j_a klmi_gv
fZkrlZ[bjh\Zgby.

H]jZgbqbl_ev mklZgZ\eb\Z_l fbgbfZevgmx b

fZdkbfZevgmx \_ebqbgu kb]gZeZ

jZkkh]eZkh\Zgby ijb IB>�j_]mebjh\Zgbb�

FbgbfZevguc kb]gZe jZkkh]eZkh\Zgby fh`_l
[ulv hljbpZl_evguf.

Klmi_gv fZkrlZ[bjh\Zgby bkihevam_lky ^ey

ih^kljhcdb kl_i_gb baf_g_gby d aZ^Zxs_fm
kb]gZem qZklhlZ/kdhjhklv.

Ihke_ wlbo ^\mo klmi_g_c kb]gZeu
jZkkh]eZkh\Zgby b aZ^Zgby kdeZ^u\Zxlky.

1. Qlh[u h]jZgbqblv fZdkbfZevgmx \_ebqbgm

jZkkh]eZkh\Zgby� mklZgh\bl_ 0.23 <_jogbc
ij_^_e \uoh^gh]h kb]gZeZ ijb IB>�

j_]mebjh\Zgbb gZ gm`gh_ <Zf agZq_gb_.

 AgZq_gb_ ih mfheqZgbx:  100 %
>bZiZahg�  0 ~ 100 %

2. >ey hij_^_e_gby fbgbfZevghc \_ebqbgu

jZkkh]eZkh\Zgby mklZgh\bl_ 0.24 Gb`gbc

ij_^_e \uoh^gh]h kb]gZeZ ijb IB>�

j_]mebjh\Zgbb gZ gm`gh_ <Zf agZq_gb_.

 AgZq_gb_ ih mfheqZgbx: -100 %
>bZiZahg�  ±100 %

3. >ey hij_^_e_gby kl_i_gb j_Z]bjh\Zgby gZ

mijZ\eyxsbc kb]gZe qZklhlZ/kdhjhklv
mklZgh\bl_ 0.25 FZkrlZ[guc dhwnnbpb_gl
\uoh^gh]h kb]gZeZ ijb IB>� j_]mebjh\Zgbb gZ
lj_[m_fh_ agZq_gb_.

 AgZq_gb_ ih mfheqZgbx:  1
>bZiZahg�  0 ~ 4.000

GZkljhcdZ ^bgZfbq_kdbo
oZjZdl_jbklbd

>ey gZkljhcdb ^bgZfbq_kdbo ihdZaZl_e_c

bkihevamxlky ke_^mxsb_ iZjZf_lju:

0.20 Dhwnnbpb_gl mkbe_gby ijhihjpbhgZevgh]h

a\_gZ

AgZq_gb_ ih mfheqZgbx:  1
>bZiZahg�  0 ~ 4.000

0.21 Dhwnnbpb_gl mkbe_gby bgl_]jbjmxs_]h

a\_gZ

AgZq_gb_ ih mfheqZgbx:  0.5
>bZiZahg�  0 ~ 4.000

0.22 Dhwnnbpb_gl mkbe_gby ^bnn_j_gpbjmxs_]h

a\_gZ

AgZq_gb_ ih mfheqZgbx:  0
>bZiZahg�  0 ~ 4.000

Kibkhd iZjZf_ljh\

< ^Zgghf fZdjhk_ ^hklmigu iZjZf_lju�

i_j_qbke_ggu_ \ jZa^_e_ IZjZf_lju fZdjhkZ 1
\ =eZ\_ �� iexk ijb\_^zggu_ \ gb`_ke_^mxs_c

lZ[ebp_� @bjguf rjbnlhf ihdZaZgu

iZjZf_lju� dhlhju_ bf_xl nmgdpbb�

ij_^gZagZq_ggu_ ^ey bkihevah\Zgby \ fZdjhk_.

0.11 AZ^Zgb_ i_j_^ jZfihc

0.12 AZ^Zgb_ ihke_ jZfiu

0.13 :dlb\guc lhd ^\b]Zl_ey

0.14 <u[hj j_`bfZ jZ[hlu ZgZeh]h\h]h

\oh^Z � (aZ^Zgb_ qZklhlu/kdhjhklb)

0.15 <u[hj j_`bfZ jZ[hlu ZgZeh]h\h]h

\oh^Z 2 (aZ^Zgb_ gZ IB>�

j_]mebjh\Zgb_)

0.16 <u[hj j_`bfZ jZ[hlu ZgZeh]h\h]h

\oh^Z 3 (Kb]gZe h[jZlghc k\yab)

0.17 :gZeh]h\uc \oh^ 1
(aZ^Zgb_ qZklhlu/kdhjhklb)

0.18 :gZeh]h\uc \oh^ 2
(aZ^Zgb_ gZ IB>�j_]mebjh\Zgb_)

0.19 :gZeh]h\uc \oh^ 3
(Kb]gZe h[jZlghc k\yab)  

0.20 Dhwnnbpb_gl mkbe_gby

ijhihjpbhgZevgh]h a\_gZ

0.21 Dhwnnbpb_gl mkbe_gby

bgl_]jbjmxs_]h a\_gZ

0.22 Dhwnnbpb_gl mkbe_gby

^bnn_j_gpbjmxs_]h a\_gZ

0.23 <_jogbc ij_^_e \uoh^gh]h kb]gZeZ ijb

IB>�j_]mebjh\Zgbb

0.24 Gb`gbc ij_^_e \uoh^gh]h kb]gZeZ ijb

IB>�j_]mebjh\Zgbb

0.25 FZkrlZ[guc dhwnnbpb_gl \uoh^gh]h

kb]gZeZ ijb IB>�j_]mebjh\Zgbb

IZjZf_lj Nmgdpby


